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March 11, 2019

March 11, 2019, Monday

SAMPLE ITEMS
1. In which expression is the coefficient of the n term -1?

\3n -1

B. -n°+5n+4

the area of a square with a side length of 16

{_Z\

2. The expressln used to calcul ke area of a side length of the
square. What a5 the expresslnn epresent? SX
‘}\ the area of a square with a side length of 5

Answers to Unit 1.3 Sample Items
1cC 2. D

C__the area of a square with a side length of 4x 5 = 8{
he area of a square with a side length of §
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Unit 30 Day 2 Notes_Factoring Trinomials when a = |

Mecn 12588 s contoclor o quadialic expresion o reveatheZetoes of i upclin I detnes.
Now lel’s factor finomials! (3 terms)
* Remember. wi
Example 1: );igx;:_t
1 iherea GoF Yes of
To factor a frinomial, it breaks down into a product of binomials (2 ferms each)

*
What are the factors of ¢ (what pais mulliply fo &) #1 7 which pair adds fo be 57
b
+él ? ————24+3:=5

Answer(x 42 )x +3 )
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g 1 Name. ™1
Factoring In-Class Assignment.
Factor the common facto out of cach cxpression,

1) 240+ 308424 2) 35445

3) 70 463 - 42 4 6328

Factor each completely.

5 ptopeis 6 @81
LR § o1
9 -+ 16 10 742050
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otro. -t
1. Find two numbers that sum | to8 and thE a raducl of 12
=13 el U T ‘3 s /,
2. Find two numbers that sum to 5 and have a product of 6
Q.2 =u z=s »’
3 'L’ 1‘4
Gt

3. Find two numbers that sum to 5 and have a product of -14.

4. Find two numbers that sum to -8 and have a product of 12 -6,-& =k~
1,15 393 X
141621pY),

5.Find two numbers that sum to 16 and have a product of 15

g3
6. Find two numbers that sum to -4 and have a product of -21 1
=5 44
7. Find two numbers that sum to 1 and have a product of -56 3 i - S‘t *‘l (‘l
EH A

=1
8. Find two numbers that sum to -14 and have a product o 40 —10;~4 " u@
9.Find o numbers that sum to 0 and have a product of 225 5-5
e
Ry 4
10-Find o numbers thatsum o 8 and have a product o 16

q

11. Multiply the following: -1+l “2 TR
L+329
a(+60+d) L:3=|% b. (v +7Xx-2)
Xt-2x+3x~14

S
o 5.l 3B

Notice: What i the
DrodsToT e

=
Lisgmiabebore?

ice: What

Pl

Notie: Whatisthe
sum of the constants

i cach bizomisl

binomial sbovs?
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GSE Algebra | Unit 3A - Factoring Quadratics

Name Date.

Factoring Trinomials (ax? + bx + c)

Factor each frinomial comple'ely. “Hint - #8-10 fake out a GCF 141" ]
2o 4ind 3N dd

T -5x-14 270 2x-24

(X425 2324

0

eiles) e

-

jcientn fronkg
paeeh
7. X —6x-16 \}V 8. 20 +12¢ +1

\]&mz_ﬂx*z% GCC
ax (¥4 Hex+9)
mvwx{x+3 (x23) ><

5. 3 x8 100 -6 20 |
35 +ux-al) 290 5x 1)
S A o

‘\)

i

Mar 11-7:58 AM

1) 0% 1706 12) 26 - 15428

13) 857+ 306+ 7 14) 40”170 +4,

Factor each completely. ALL have a GCFI!

15) 30 ~21n+30 16) 25° 4 18620
17 a4 18) 657+ 30036
19) 45° 266 + 36 20) 2007+ 38p+ 14
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March 12, 2019, Tuesday

1. What is the product of 7x - 4 and 8x + 57

2.

A model of a house is shown.

3 F12x+3

14x+13

What is the perimeter, in units, of the model?

A 32x+12
46x+25
50x + 11
6ax+24

sowm

March 11, 2019

Factor by GCF: Factor by DOTS (Difference of 2 Squares)

54b% + 48b% =

9m? — 27m +9m® =

9—4x? =

4x* —16 =

Mar 6-8:42 AM

Factor by a = 1 (Factors of c that add to b)

x? —15x +56 =

2x?+2x—4=

Factor by a # 1 (Bottoms Up Method)

9x? +27x+8 =

20x? —38x+12 =

March 13, 2019, Wednesday

1. Which expression is equivalent to 121x* - 64y°?

(11x - 16y)(11x + 16y)
(11x - 16y)(11x - 16y)
(11x + 8y)(11x +8y)
(11x + 8y)(11x - 8)

comp

»

. What is a common factor for the expression 24x® + 16x + 1442

A 16

B. 8¢

C. 3¢ +2x+18
D. 8(x—2)(3% +9)

...quiz
3. Which of these shows the complete factorization of 6x%? — 9xy - 427 q
A 322 - T)xy + 2) Answers te Unit 3.1 Sample Items
B. 3y +6)(2y-T7) 1. D 2. C 3. C
€. 3@y -T)y+2)
D. (39” +6)(29° - 7)
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Mar 6-8:44 AM

# Consider the expression 3n” + n + 2

a. What is the coefficient of n?

# Factor the expression 16a” - 81.

March 14, 2019, Thursday

¢ Factor the expression 12x* + 14x - 6.

Algebra 1: Unit 3A Study Guide Name:
L8 2 Tox-3y 3wy Ty
1
4w 1k 15 5 @ 1436 P
7. - 1ne10 g Mm% o M1
: =T 1220 50
10.30°-75 1L
1
13.26-5x-3 1436+ 5x-12 .20 1x-15
165017512 17,95 6211 18201 6x13
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19, Whi i 20. 21.
correcty factors out the factorization of make x* + bx— 20
greatest common factor of X —2x-2m factorable?
5S¢+ 2007
) 50 +4) 2 - 8E—6) PE
b) 5x(x +4) b) (- 2)G+12) b 4
& 50 +41) O (G- 6) 9 10
@) 5x(t +41) @ G-+ 6) D2

2. 2 2. which of
343~ 10x-+7. Thewidihis | x: —36isa differenceof two | the following gives you * +
31— 7. Whatis thelength of | squares.Ifso, choose the. ey
the rectangle? correct factorization.
@ @+1) a) No @ D
b G 7) b) Yos; (x—6)° b) (& 3)x+1)
9 G+3) o Yos; (x 6)(x+6) 9 GHHED
EReR) ) Yos; (x+6)" § G ED
2. o 2.
of 2 —x~17 we factor? expression that would be
factored using bot# GCF and.
difference of perfectsquares.

5 2-1
b) 21
9 x+2
D32

Factor each expression completely.

L7249 [ 32 +21x

4 436 . =100 L
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f. w-1m B 4e-1 b 4025
o 25¢ -9 bt 2e-8 b2 2 98

13 2 psxid 12 2122 152 4 13es 40
16 37 +34x-72 17 3% 4 10x-11 18 % 1ax+24
ho. ¥ 18x 112 20. ¥ 1 5x-24 21 % 1 7x-30

2. 23 ¥ %72 24 @ +17+16
5. % +60-40 26, ¥ +21x+98 27. @ +200+84
28, ¥ +2x-63 29. % +18x+77 B0. % -2¢-35

Los? paxo12 32 2l sx7 33 22 113415
4w 76 35 32 4 16es21 36 42 415
7. 4 412549 38 22 gxrd 39 102 17x+3
0. 22 -3 4L ad 56 42 22 _10x-28

March

11, 2019

March 15, 2019, Friday

Factor completely, if possible...

2 +4x-30=

X +5¢ + 4=

Mar 6-8:46 AM
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1) 20+ + 8

Factor each completely.

3) 25p% -4

5) nP-3n-4

7) 3n% + 197 —40

9) 5a’+6a—8

Factor the common factor out of each expression.

Circle your final answer.

2) 4077 + 401 + 56

4) a*-3a-28
6 r* -1
8) 9x* —38x+8

10) 9n® —46n+5

“I 19. Which of the following

correctly factors out the
greatest common factor of
5x2 +20x7

2) 50 +4)
b) 5x(x* +4)
O 50 +4x)
d) Sx(x® +47)

20.What is the correct
factorization of
xf -2 247

a) (x—4)(x—6)

d) (x—4)(x+6)

21.Which value of bwould
make x* + bx — 20
factorable?

a) 8
b) 4
9 10
@ 2

22. The area of a rectangle is
322 - 10x + 7. The width is
3x — 7. Whatis the length of
the rectangle?

a) (x+1)
b) (x-7)
€ (x+3)
d) (x-1)

23 Determine whether
x* = 36isa difference of two
squares. If so, choose the
correct factorization.

¢) Yes: (x-61(x+6)
d) Yes: (x+6)°

24 When multiplied, which of
the following gives youx® +
x -3

a) (x+3x-1)
b) (x-3)0c+ 1)
Q) (x+3x+1)
d) (x-2xe-1)

25.Which expression is a factor
of 247 —x— 17

a) 2x-1
b) 2x+1
Q x+2
d) x-2

26. What type of equations do
we factor?

27.Write an example of an.
expression that would be
factored using both GCF and
difference of perfect squares.
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